Nama:

Balance the following chemical equations: o
1.CHy,p (I) + O,(g) —  CO,(g) + 6 H,0(I)

2.Zn(s) + AgNO;(aq) > Zn(NO;), (aq) + Ag (s)

3. Al)(CO3)5 (s) —— AlO5(s) + CO, (g)
4. Mg(OH), (aq) + H3;PO, (aq) ——— Mgs(PO,), (aq) + 6H,0 (I)

5. Fe(OH);(aq) + H,;SO,(aq) —— Fe,(SO,); (aq) + H,0(l)

Calculate the oxidation number for the underlined atom:

OXIDATION NUMBER OXIDATION NUMBER
FORMULA OF UNDERLINED FORMULA OF UNDERLINED
ATOM ATOM
. 6. K*

- Ll

2K 7 NOy
3. F 8 | B0~
4 Al3+ . MnO,
5. o) 0. FeO

Ina free element , as an atom or a moleculethe

oxidation number is zero
OXIDATION NUMBER
OF UNDERLINED Formonoatomicion, theoxidation numberis
ATOM equal to the charge on the ion

11. H2§ Fluorine and other halogens have oxidation
number of -1except when combinewith oxygen

12. PO,

Hydrogen is +1 except in metal hydrides (-1)
13. | =i

Oxygen is -2 except in xide (-1) and when
14 HZQZZ combine with fluorine (+2)

In neutral molecule, the sum of the oxidation
15. _N_H4C| number of all atoms that made up the molecule

is equal to zero

For polyatomic ions, the total oxidation number
of all atoms that made up the polyatomicion
must be equal to the i
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